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(-13m) 4 29 [1,962 3 55.8 23.3| 41.8
(-12m) 4 24 284 m3 3.8 3.2| 84.1
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«C ) 5 12 385 13.8 13.8| 100.0
() 5 13 610 47.7 47.7| 100.0
(-7.5m) 25 25 10 m3 0.2 0.0, 0.0
10 20 210 1.0 0.1| 13.0

\ 4 18 15.3 14.3| 93.2
3,4 (-10m) 50 57 370 35.7 35.7| 100.0
23 23 500 6.4 0.0, 0.0

) 61 10 7.1 7.1| 100.0
3 (-12m) 60 6 240 28.3 28.3| 100.0
4 (- m) 61 5 90 2.0 2.0/ 100.0
5 (-13m) 3 11 260 36.8 36.8| 100.0
- s 62 14 41.7 41.7| 100.0
671.1| 565.1| 84.2







with
without

with
without




with

without
(@D)
16 2,705 1,174
(43.4 ) 1,530 (56.6 )
13
(-13m) 16
109 ( 36 (32.9 ) 73 67.1 ))
(75.8 )
(7.3 ) G-.2 )
2.2 )

3,000 [
2,500 *
2,000 ’
1,500 ’
1,000 *

500

965 t
(35.7%)

39t
58 t (1.4%)




(2)

16
109,122 340,000
35,881 110,000
73,241 230,000 )
335,099 381,159
53,940 100,000 @
190,974 190,974
64,503 64,503
4,150 4,150 16
6,867 6,867
4,445 4,445 ®
3,152 3,152
7,068 7,068
(3)
27 ) TEU TEU
7 16 500 6000
jzg : 1 5000
zzg : 1 4000
13 250 1 3000
100 igg : 1 2000
100 1 4 1000
50
° 7 8 9 10 11 12 13 14 15 16 °
340,000
16 27
100,122 | 110,000 |
109,122 340,000 ] | >
(339,800) 35,881 i I
35,881 110,000 | 230,000 |
73,241
73,241 230,000 .
) 16 27
27 340,000

- 10 -




190,974
64,503

4,150
6,867
4,445
5 e
7,068
gl

- 11 -



53km 0.8

-

with without

Q
46km(0.8 )
53km(0.8 )
51km(0.8h)
4km(0.1 ) 76km(1.2 )
103km(1.6 )

0 0
>

- 12 -



with

N (2 DwWT )
without
R (5 DWT)
(-12m) (20,000DWT )
( -7.5m)
5,000DWT
with 2 DWT without 5 DWT

ith

with without
| |
e e >
| || I ]
N > a e
I | | | | |
e




with
. (G DWT )

without

. (1 DWT)

21

i L - -
with without
5 I |
g 2o 3
| || I 1]
< g g
16 I | | | 1
-
-




with

without
)
S51 S57
H8 H15
\
- ) N\
( )
« )
N ( )
o ( ) e 2
C ) with without
>
( )
2O 4




with

without

X X
“““““““ with without
X =

100 500GT

- 16 -



with

without
o
o
o
[ without
T GZER —

50cm

50cm  1m
Im 1.5m
1.5m 2m




with(

), without( 10 50
100m
50cm
1
J
( )
U o 2 .o 2 g
without with
U (1,250m)
2 U.g
> >
,U, 17ha
10cm  90cm
g >

- 18 -



1,888

337

578

207

3,010

- 19 -




17

(-7.5m) -
(-13m) (-13m) -

(-7.5m)

0.8

(-13m) (-13m)

FrEE (o)
1 IEU .2 [EU

148

199

43

390

- 20 -




CO2 1,173 -C
1,684 -C
NOX 28 -C

CO2 NOX

- 21 -




12

(

- 22 -

16 6 )

(

)

16



\ong/

5.0%2.5x1.4

-14.7
SCP=25 S SCP=70 SCP=25
16.80 18.90 23.10 12.60
-30.90
20.4><14.9%<13.5
5.0x2.5x1.4
5.0%2.5%1.4
=50 140 2.5 12.00
=
— _% X
=12 /7 200kg/
-15.40

SCP=25 SCP=70 SCP=25
16.80 18.90 23.10 12.60
‘ -30.90




17 6

24 -




